Ejercicios Propuestos:

Determine por Extension los Siguientes Conjuntos:

K={4,5,6,7,8}
M= {-6, -5, -4}
N= {6, -5, -4}

A={x/xENAN2<x<8}
X/ XENANO<x<9}
X/ xENAN-3<x=<1}}

p-fX/XENAN-1<x<4}

X/ xENAS5<x<6}

{x/ xENAXx<4}

X/ xXENAX<T}
ufx/x€ZAN-5<x<3}
L{x/xENAN-6=<x=-1}
{x/x€ZAN-5<x<3}
w{x/xEZAN4<x<8}
M={x/x€EZA(-7T<x<-3Vx=
0)}
N={x/x€ZA(x=-4V-6=x<

~3)}

Respuestas:

A={2,3,4,5,6,7,8}
B={1,2,3,4,5,6,7,8}
C={1}

D=0, 1,2, 3}

E= {5}

F={1,2,3, 4}
G={1,2,3,4,5,6}
H={-5-4,-3,-2,-1,0,1,2,3}
1= {}
J=1{5,-4,-3,-2,-1,0,1,2,3}



